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TR 14311 @] Siga draer] & q/gq 3R 371 &xedl @ 1 BT |

(i) 37 ¥7-97 § F7 12 J97 & | @4t 397 7Har & |

(ii) I8 Jo7-97 A4 @S] — &, @ KT 7 favifaa 8 |

(iii) TS & T J97 G&I7 1 8 3 7% 37ld TG-3F0T JHR & J97 8 | JAF Jo7 2 3] 7
g1

(iv) TUE W H Yo7 &I 4 @ 11 7% TG-F0T IR & 97 8 | Jd%h J97 3 37h] #7 8 |

() U T H 97 G&IT 12 T STERT J97 8 | I8 Jo7 5 3] 1 & |
(vi) ST GRIGT 3K Fopeiet & FIIT FX7 H a7 Tg1 8 |

«ug <h

1. 31y f=faRea uieds &8 w8 (+18 3@) 2x1=2
(i) SO | e
(i) IS § -2
(iii) A3 A W TIAHTSS

2. & TS Affshe
N, (g) + 8H, (g) —— 2NH;3 (g)
H, NH; % S &1 T 3-6 x 1074 mol L1 s~1 % |
s £ - 2x1=2
()  oFfufsRan 1 o, 3R
(i)  Hy(g) % ged & 1 9 |

3. () 3T % Todd AMEEA 1 B W iy |
(i) ¥ CH;COOH & faw A 3R A, %E: 48 S cem2mol! W
400 S cm?2 mol~! fu 7T &, A CH3COOH &1 TR #E (o)
kit i | 2x1=2
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General Instructions :

Read the following instructions very carefully and strictly follow them :
(1) This question paper contains 12 questions. All questions are compulsory.
(it)  This question paper is divided into three Sections — A, B and C.

(iit) Section A — Questions no. 1 to 3 are very short answer type questions, carrying
2 marks each.

(iv) Section B - Questions no. 4 to 11 are short answer type questions, carrying
3 marks each.

(v)  Section C - Question no. 12 is case based question, carrying 5 marks.

(vi)  Use of log tables and calculators is not allowed.

SECTION A

1. How will you carry out the following conversions : (Any two) 2x1=2
) Propanal to Propane
(i)  Ethanal to But-2-enal

(111) Ethanoic acid to ethanamide

2. In the given reaction
the rate of formation of NHg is 3:6 x 10~4 mol L1 51,

Calculate the Ix1=2
(1) rate of reaction, and

(i)  rate of disappearance of Hy (g).

3. 1) State Kohlrausch’s law of independent migration of ions.

(ii))  Calculate the degree of dissociation (o) of CH3COOH if Am and
0
Am of CH3COOH are 48 Scm?2 mol™! and 400 Scm?2 mol™!

respectively. 2x1=2
P.T.O.
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4. (&)

Qs 9
fraffad g%l o dohtor @ grashia @E ffen : 3x1=3
@ [NiCl)?"
(i)  [Co(NHg)gl3+
(ili) [FeFgl3-

[9XETY] AT : Ni = 28, Co = 27, Fe = 26]

HAAT
(@) () Tm=fafed 9%a 1 IUPAC M fafaT
[Co(NHj),,(H,0)CIICL,,
(i) 39 feree wa fggar forre & ot & @ oTax B 2
(i) [Fe(NHg)gl3* 3R [Fe(Cy0, 513~ H ¥ HH-HT HHa I4eh
TRft 3 3R &} 2 3x1=3
5. fmafafed g@ & fou .91, 9 (emf) giterfea Hifv . 3

Zn (s)| Zn%* (0-01 M) || (0-001 M) Ag*|Ag (s)

e g B .. =—076V 3

m“"/7Zn
E® = +0-80V
Agt/Ag

[log 2 = 0-3010, log 3 = 0-4771, log 10 = 1]

i
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SECTION B

4. (a)  Write the hybridisation and magnetic character of the following
complexes : 3x1=3

i [NiCly*

(i)  [Co(NHg)gl3+

(iii)  [FeFg]3-

[Atomic number : Ni = 28, Co = 27, Fe = 26]

OR

(b) @ Write the IUPAC name of the following complex :
[Co(NHj3)4(H90)Cl]ICly

(ii))  What is the difference between an Ambidentate ligand and a
Bidentate ligand ?

(iii) Out of [Fe(NH3)gl3* and [Fe(Cy04)3]13~, which complex is

more stable and why ? 3x1=3

5. Calculate the emf of the following cell : 3

Zn (s)| ZnZ* (0-01 M) || (0-001 M) Ag*|Ag (s)

Given: E® | =-076V and
7n“t/7n
E® ~+080V
Ag*/Ag

[log 2 = 0-3010, log 3 = 0-4771, log 10 = 1]

5
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P.T.O.
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6. (%) TAfaRaa ¥ gea 3@ =l fafe :

CHO
273 -283K
COONa
(i) O/ + NaOH 22,

NH,OH
(iii) CH3-C=0 ———>
|
H

HUgAT
(@) () S sl AU A T SRRl STEH BT 8 | w2
(i) 39 UHRIGHM IR SihHA o Ted faug e il ?

(i) FrfIRaa sgeaa ol wT=T TSy
T 1 2,4-STETSe RIS

3Ix1=3

3Ix1=3

7. UH UM HIC hl AMBHAT Bl 75% faaise 89 F 30 i @10 8 | ty,9 hl

UMY <hHIST |

fear T 2 : [log 2 =03, log 3 =048, log 4 = 06, log 5 = 0-7]

8. (%) galennll Hici Gd gernll Wict o e H fiH ST fetfay |
arora
(@) ) ‘gu i uifera e qon giem arem fafen |
(i)  SHIAEES! HUN § FISH T T PRV F7 7 ?
(i) TTIHH % ST W Hifdeh AT = wear g 2

6
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(a)  Write the major products in the following : 3x1=3
CHO
273-283K
COONa
(ii) O/ + NaOH 229,
NH,OH
i) CH3-C=0 ————

|
H

OR

b)) @ Oxidation of propanal is easier than propanone. Why ?

(i) How can you distinguish between Acetophenone and
Benzophenone ?

(iii) Draw the structure of the following derivative : 3x1=3

2,4-Dinitrophenylhydrazone of Propanone

A first order reduction takes 30 minutes for 75% decomposition.
Calculate ty9. 3

Given : [log 2 =0-3, log3 =048, log4 =06, logh=0"7]

(a)  Write three differences between Lyophobic sol and Lyophilic sol. 3
OR
b) @) Write the dispersed phase and dispersion medium of ‘milk’.

(1) What is the cause of Brownian movement in colloidal
particles ?

(iii) Why does physisorption decrease with increase in
temperature ? 3x1=3

P.T.O.
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E@

M2t/ M

Cr

Mn

Fe

Co

Ni

Cu

/n

-091

-1-18

- 0-44

- 0-28

- 025

+ 0-34

- 076

HHAT Al I T URE % B AT % fau M sifehel @ Frafafad sl %

3ﬂ(éﬁﬁ?:

1)
(i1)
(iii)

10. (h)

(1)
(i1)

(iii)

E®

Mn2+/ Mn

I feu mu BEO urt # rfrfidar w1 9 R g 2

E®

CuZ/Cu

A 3YaTe-La%Y GHTcHS o1 & ?

freafefaa stfufsramsti 4 g arel arfien fofem :
TGS 1=
et srfufsean
T Affshan

(1)
(ii)

(iii)

1)

(i1)

Zn, Cd 3T Hg TshHYT a<a &1 2 |

AT

M 1 qeal <l ol H e Foledsh i 2 2

3Ix1=3

3Ix1=3

o yeia orrall % TS I H HH-AT I AT Y& 7§ ?
I ST |

(D CH4COOH #¥@l F - CH, - COOH

OH

(ID) @ S CH,y — COOH

UeeH-2-31 Ta Yred-3-311 | fawig iy |

11. ffafad % I T
hHUT GTIT AT ST AfITeh IR Afshrar gorld § |

Zr Td Hf 31 TT9] F3Somd oy se gt & |
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9.
Cr Mn Fe Co Ni Cu Zn
E°,
M“*/M
-091(-118| —-044 |-028 |-025| +0:34 | -0-76
From the given EC values of the first row transition elements, answer the
following questions : 3x1=3
. . ) . .
1) Why is E value highly negative as compared to other
y T ghly neg P
elements ?
(ii))  What is the reason for the irregularity in the above E® values ?
(i1i)) Whyis Ee 9 value exceptionally positive ?
Cu“"/Cu
10. (a) Write the equation involved in the following reactions : 3x1=3
(1) Rosenmund reduction
(ii))  Etard reaction
(iii)  Stephen reaction
OR
(b) @) Which acid of each pair would you expect to be stronger ?
Give reason. 2+1=3
D CH3;COOH or F - CH, - COOH
OH
(ID) @ or CH; — COOH
(i1)  Distinguish between Pentan-2-one and Pentan-3-one.
11.  Account for the following : 3x1=3
) Transition metals and their compounds show catalytic activities.

(ii)
(iii)

Zn, Cd and Hg are non-transition elements.
Zr and Hf are of almost identical atomic radii.

9
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P.T.O.
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12. frfafaa s=ee @t dfer qeon fou e yeai & 3w €T 1+1+1+2=5
U, ST 9] | Teh AYAST AU gHg TS o Ufcsha/IRA awg!
g foemaa | ured Hreifeh ARl 1 Tk TEwqul @t AT 8 | wfE e
el AR, Bese, TATSS, TG W Sdl B | A FISGIH STEEH N il
2 @ 376 ifass o1 wwifea B § | Wfewa Wi e @ yea e B
8 | WRfds UHH 4 soiegq faHi=e d ST S N SRkl H g @
Ff Hd 7 | THAD i rfufspamd Aregee W Suftya steeiia soieeid e
S Iuersydr g Fgifia gidt 8 | AT8gie T W 3UTEd gIsgie  qLHTuLST
% TEAT 1 IAHGRAT o THR qAT I IcdTal ohl Thfd W THE T,
fgdiare ©d gt Uit 1 g den fade % fore soeerEh ® | Rdfes Ui
s erfirfspamsfierar s Ufaem afskan gra faifa fokem ST oepat 2
() e e srftifsrar @ yefia TE st 2 1
(i) FrfARad @i 39 pKj, A1 % a6d gU A | Sqafedd HifT 1

CeHsNH,, NHs, CoHsNH,, (CHg)sN

(iii) Tegent oeo gl CH3CHoNH, Td  (CH3CHg)oNH o HET 3T hd

favig ot TR B 2 1
(iv) (&) Tafafga safufsansti @ A 9 B & st=AT ffge 2x1=2
NO,

Sn + HC1 Bry ST
(D > A B

(ID CH3CH200NH2 BI‘Z/ alc. :KC):[‘I> A CH3COCI B
fufedm
SreaT
(@) f=afafaa =t sy o ufafda s . 2x1=2
1)  S=lseh 3TF 9 Ufdel=
ID) U & psiERfaeid
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SECTION C

Read the following passage and answer the questions that

follow : I1+1+4+142=5

Amines constitute an important class of organic compounds derived by
replacing one or more hydrogen atoms of ammonia molecule by alkyl/aryl
groups. Amines are usually formed from nitro compounds, halides,
amides, etc. They exhibit hydrogen bonding which influences their
physical properties. Alkyl amines are found to be stronger bases than
ammonia. In aromatic amines, electron releasing and withdrawing
groups, respectively increase and decrease their basic character.
Reactions of amines are governed by availability of the unshared pair of
electrons on nitrogen. Influence of the number of hydrogen atoms at
nitrogen atom on the type of reactions and nature of products is
responsible for identification and distinction between primary, secondary
and tertiary amines. Reactivity of aromatic amines can be controlled by
acylation process.

(1) Why does aniline not give Friedel-Crafts reaction ?

(i1)  Arrange the following in the increasing order of their pr values :
CegHsNH,, NH3, CoHsNHy, (CHg)3N

(iii) How can you distinguish between CH3CH9NHy and
(CH3CH9)9NH by Hinsberg test ?

(iv) (a)  Write the structures of A and B in the following reactions : 2x1=2

NO,

Sn + HC1 Bry water
(D > A

() CHsCH,CONH, Bry/ale. KOH A CH3COCl B
Pyridine
OR
(b)  How will you convert the following : 2x1=2
D Benzoic acid to aniline
(II)  Aniline to p-bromoaniline
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